INEE—T 8B SFTTEE
KB IE B ®KAB 48108 5294 S)=[6]=] 78448 8288 9858 10838 118138 12858 1898 2368 32854 R RIE 13
7K 2 (C) 110 139 199 200 235 220 224 146 08 77 74 73 235 73 150
— i B (18/mL) 0 0 0 0 0 0 0 0 0 0 0 0 0
AN i N2 N N AR AR AR N1 N N AR AR N2 N
ARIODARVZ OIS MW (me/L| <O0003 <00003 <00003 <00003 <00003 <00003 <00003 <00003 <00003 <00003 <00003 <00003| <00003
XK B R U Z O & W mg/L < 0.00005 < 0.00005 < 000005 < 0.00005|< 0.00005
LU YR ZOIWS ™MW MmegL| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
w R U 2 0 i & W (mg/L < 0.001 <0.001 < 0.001 <0001| <0001
E 2 & O 2 O It 8 MW mg/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
AN O 2 O A it & %W (meg/U| <0005 <0005 <0005 <0005 <0005 <0005 <0005 <0005 <0005 <0005 <0005 <0005| <0005
H B B B T & (meg/L| <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004| <0004
YPIEMAAYROELY P Y (mg/L) < 0.001 <0.001 < 0.001 <0001| <0001
WREEZEERUOBHEBEZE R (mg/L 0.14 012 0.12 0.15 017 015 0.11 023 0.18 0.12 0.19 017 023 0.11 0.15
v ZE RV Z OIS W Mg <005 <005 <005 <005 <005 <005 <005 <005 <005 <005 <005 <005/ <005
" D HERUVCZ 014 SE W Mme/L <002 <002 <002 <002 <002 <002 002 <002 <002 <002 <002 <002 002 <002 <002
rg iz} 1t 7 % (me/L) | <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <0.0002| <0.0002
1, 4 — Y A F Y Y (mg/L| <0001 <0001 <0001, <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
i;\_;\’_ %—égmgéggéﬁzzj (mg/L)| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
Yy -2 O O % & Y (mg/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
> 5> 2 00IFL Y meL| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
U 2 00 I F U Y melL| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001, <0001 <0001 <0001| <0001
A Y, © > (mg/L)| <0001 <0001 <0001/ <0001 <0001 <0001 <0001 <0001 <0001 <0001, <0001 <0001| <0001
i = B (meg/L) <005 <005 005 0.06 0.06 0.06 006 <005 <005 <005 <005 <005 006 <005 <005
K5 0 0 BE B (mg/L)| <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002 <0002| <0002
- 2 O O w4 (me/L) 0005 0009 0010 0016/ 0019 0022 0019 0012 0012 0007 0008  0007| 0022 0005 0012
v D 0 0 B B (me/L) 0004 0008 0008 0011 0.011 0009 0006 0005 0005 0006/ 0006 0008 0011 0004 0007
2Y J O F 2 00 X % ¥V mg/l| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
£ = B (meg/L) < 0.001 <0.001 < 0.001 <0001| <0001
Fae U N DO X 8 Y mel 0008 0012 0013 0020 0024 0027 0024 0016 0015 0009 0011 0010 0027 0008 0016
=k Y 2 0O O B &8 me 0004 ~ 0007 0007 0011 0013 0016 0014 0009 0011 0007/ 0008 0007 0016 <0005 0010
SO EY S O00XS Y mel 0003 0003 0003 0004 0005 0005 0005 0004 0003 0002/ 0003  0003| 0005 0002 0004
B> 0 £ N U A (mg/L| <0001 <0001, <0001 <0001 <0001 <0001 <0001 <0001 <0001, <0001 <0001 <0001| <0001
R oW A P I T B R (mg/L < 0.001 <0.001 < 0.001 <0001| <0001
B RO Z D01 S W meg/ <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002| <002
PILEZOARUZODIEEW mg/L <001 <001 0.01 0.01 0.01 0.01 0.01 0.01 002 <001 <001 <001 002 <001 <001
% R O % o it & %W (mg/L <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002| <002
W R O 2 O it & W (meg/L <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002 <002| <002
T RUDARVOZODOIESEW (mg/L 6.2 47 54 56 58 58 58 5.1 52 50 84 6.0 84 47 58
VYA YRUOZOIE S W mMme/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001, <0001 <0001 <0001| <0001
1= (T « ) > (mg/L) 8.1 7.3 71 6.8 6.9 6.2 6.4 6.9 6.7 6.7 87 89 89 6.2 7.2
AIVYDI L, RIRIYDAZE(BE) (mg/L) 250 193 226 238 24.9 252 256 222 24.1 24.3 287 259 287 193 24.3
2 1 5% 2 " (me/L) 54 68 63 67 68 54 64
= 4 7 v KR @ & % A& (ng/L) <0.02 <002 <0.02 <002 <0.02
Y, T F 2 = > (ug/L) 0002 0001 <0001/ <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 0002 <0001 <0001
2 — X FIJAYMRIRA—JI (ug/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001, <0001 <0001 <0001| <0001
¥ 4 F Y R @ B M B (mg/L <0.005 <0005 <0.005 <0005| <0005
W T J — ) % (mg/L < 0.0005 < 0.0005 < 0.0005 <00005| <0.0005
B (2B MK ETOC DE) (mg/L) 04 04 04 05 06 06 05 05 05 04 05 04 06 04 05
P H & 75 75 75 75 75 75 75 75 75 74 74 75 75 74 75
173 (i&%8) E83L ZEBBL EBBL| EBERL Z2EBRL EERL EBERL EBRL ERERkL ERlL EBkL EBRU
= S (@8 | B:ESL BERZL 82850 BEEL BEAL  BEEL  BERL B¥AL  REBL BERL 885U BBRUL
=} E (B <1 <1 <A <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
B E (B <01 <01 <01 <01 <01 <01 <01 <01 <01 <01 <01 <01 <01
PYFEYRUVIZODOIEEW mg/L| <O0005 <00005 <00005 <00005 <00005 <00005 <00005 <00005 <00005 <00005 <00005 <00005| <00005
DS Y ROZ OIS W Mme/L]| <O0001 <00001 <00001 <00001 <00001 <00001 <00001 <00001 <00001 <00001 <00001 <00001| <0.0001
Ty LRV ZOISE W me/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001, <0001 <0001 <0001| <0001
1, 2 - Y2 00I%F Y meg/lL] <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002| <0.0002
x ~ U T > (mg/L)| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
ooy (2—TFLAEYL) (me/l) <0005 <0.005 <0005
Cm 5 S B (me/L) <005 <005 <005
2 i 1t i = (mg/L) <005 <005 <005
By soao?”+® k= kU megl < 0.001 0.002 < 0.001 <0.001 0002 <0001 <0001
=m Kk 2 O S5 — )b (mg/L 0.002 0.004 0.002 0002| 0004 0002 0002
o B 2 i = (mg/L) 055 055 055 045 0.50 045 045 0.40 045 0.50 055 045 055 0.40 0.49
wo Bt by B (mg/L) 1.1 1.3 1.3 1.1 1.2
gl1. 1. 1—-FU200IFY (mg/L| <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
g X} FN -t TJFILI —FI)U (mg/Ll| <0001 <0001 <0001, <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001
2 % ®# B (T O N ) 4 3 4 3 4
BEM (SY 5T U PEHR) 20 -2.1 20 2.1 20 2.1 20
e I N = # (1&@/mL) O O 0
1, 1 —Y2O0O0IFL Y mg/l| <0001 <0001 <0001, <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001 <0001| <0001




